i ) / [0 81 (A 7 A 0 24

PEEK/SI

EHRR 1S Size (mm)
Part Number M DK K(max) Part Number M DK K(max)
04000SI1030050006 M3x6 6.13 1.86 2.05 04000S1060100040 Mb6x40  12.39 3.72 4.06
04000S1030050008 M3x8 6.13 1.86 2.05 04000S1060100045 M6x45  12.39 3.72 4.06
04000S1030050010 M3x10 6.13 1.86 2.05 04000S1060100050 M6x%x50  12.39 3.72 4.06
04000S1030050012 M3x12 6.13 1.86 2.05 04000S1060100060 M6%x60  12.39 3.72 4.06
04000S1030050016 M3x16 6.13 1.86 2.05 04000S1060100065 M6x65 12.39 3.72 4.06
04000S1030050020 M3x20 6.13 1.86 2.05 04000S1080125010 M8x10  16.58 496 5.08
04000S1030050025 M3x25 6.13 1.86 2.05 04000S1080125012 M8x12  16.58 496 5.08
04000S1040070006 M4x6  8.25 248 2.55 04000S1080125016 M8x16  16.58 496 5.08
04000S1040070008 M4x8  8.25 2.48 2.55 04000S1080125020 M8x20  16.58 496 5.08
04000S1040070010 M4x10 8.25 248 2.55 04000S1080125025 M8x25  16.58 4.96 5.08
04000S1040070012 M4x12 8.25 248 2.55 04000S1080125030 M8x30  16.58 4.96 5.08
04000S1040070016 M4x16 8.25 248 2.55 04000S1080125040 M8x40  16.58 496 5.08
04000S1040070020 M4x20 8.25 248 2.55 04000S1080125045 M8x45  16.58 496 5.08
04000S1040070025 M4x25 8.25 248 2.55 04000S1080125050 M8x50  16.58 4.96 5.08
04000S1040070030 M4x30 8.25 2.48 2.55 04000S1080125060 M8x60  16.58 496 5.08
04000S1040070035 M4x35 8.25 248 2.55 04000S1080125065 M8x65  16.58 4.96 5.08
04000S1050080006 M5x6 10.32 3.1 3.05 04000S1080125070 M8x70  16.58 4.96 5.08
04000SI1050080008 M5x8 10.32 3.1 3.05 04000S1080125080 M8x80  16.58 496 5.08
04000SI1050080010 M5x10 10.32 31 3.05 04000S1080125090 M8x90  16.58 496 5.08
04000S1050080012 M5x12 10.32 3.1 3.05 04000S1080125100 M8x100 16.58 4.96 5.08
04000S1050080016 M5x16 10.32 3.1 3.05 04000S1100150020 M10x20 20.81 6.2 6.08
04000S1050080020 M5x20 10.32 3.1 3.05 04000S1100150025 M10x25 20.81 6.2 6.08
04000S1050080025 M5x25 10.32 3.1 3.05 04000S1100150030 M10x30 20.81 6.2 6.08
04000SI1050080030 M5x30 10.32 3.1 3.05 04000S1100150040 M10x40 20.81 6.2 6.08
04000S1050080035 M5x35 10.32 31 3.05 04000S1100150045 M10x45 20.81 6.2 6.08
04000S1050080040 M5x40 10.32 3.1 3.05 04000S1100150050 M10x50 20.81 6.2 6.08
04000SI1050080050 M5x50 10.32 3.1 3.05 04000S1100150055 M10x55 20.81 6.2 6.08
04000S1050080060 M5x60 10.32 3.1 3.05 04000S1100150060 M10x60 20.81 6.2 6.08
04000S1060100006 M6x6 1239 3.72 4.06 04000S1100150065 M10x65 20.81 6.2 6.08
04000S1060100008 M6x8 1239 3.72 4.06 04000S1100150070 M10x70 20.81 6.2 6.08
04000S1060100010 M6x10 1239 3.72 4.06 04000S1100150100 M10x100 20.81 6.2 6.08
04000S1060100012 M6x12 1239 3.72 4.06 04000S1100150110 M10x110 20.81 6.2 6.08
04000S1060100016 M6x16 1239 3.72 4.06

04000S1060100020 M6x20 1239 3.72 4.06

04000S1060100025 M6x25 1239 3.72 4.06

04000S1060100030 M6x30 1239 3.72 4.06

04000S1060100035 M6x35 1239 3.72 4.06

. j ﬂ i

Eyry=re 315 e

FR#EFRA BENAATE



	Sheet2

